B.Com 1st Semester (Honours) Examination, 2021(CBCS)
Old Syllabus: 2017-18
Subject: Microeconomics

Paper-GE-1(1.4CH)

Time: 3 Hours Full Marks: 60

The figures in the margin indicates full marks. Candidates are required to give their answers
in their own words as far as practicable.
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1. Answer any six of the following questions: 5%6=30
(T (FTET =IO H0TF TS T13:

a. How is Engel Curve derived from the Income Consumption Curve?
ST (T (V@ [FONT AR T8I I ?

b. Explain the law of demand along with its exceptions.

FfowA 72 vilR9F T4 6 I8 FAT

c. Explain the shape of the short run average fixed cost curve of a firm.

I35 BT TG PRI (TN SAPphe 57T FET |

d. Explain the concept of Expansion Path with a suitable diagram.
235 S foasiz SHATIF AT LTl 705 ST |

e. Explain the concepts of different types of returns to scale in production.

IBIREEEGERINRIFERIGEEICIGEEIFRIRGENENEIGIT

f. Explain the difference between economies and diseconomies of scale.

AT-Bfere BIRE 3 Nal-Sfere TIF @ T I FET

g Determine the short run supply curve of a Perfectly Competitive firm.

3 AFSAPTORFEF IS HIOE ITFAN QTS (@A el FET |

h. Discuss the characteristics of Monopolistic Competitive Market.

AFE0AT FeBren[ s IBMET QRIS SIEnsr FET |



. Answer any three of the following questions: 10x3=30
@ @1 St JT Tad wis:

. Define Total Revenue, Average Revenue, Marginal Revenue and Price Elasticity of
demand and discuss the relation among them.

6 (@SS, 6 @S, e @fefas 8 sz 7w et e e m18 8 22d
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. Explain the characteristics of indifference curves.
[REISEICRIERCIRARIGEEHEN I

Discuss the method of determining the long run equilibrium of a firm under perfect
competition.

o ASHBTSPAF TSN 936 FIE THFAT ST AT TR SN FET |

Show that the Long Run Average Cost Curve is envelope of the Short Run Average Cost
Curves.
(718 (T AT TOTI (FN TIPS ToF (FSferd 9776 (S (Envelope) |

What is Price Discrimination? Explain the equilibrium of a price discriminating
monopoly firm.
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B.Com. 1st Semester (Honours) Examination, 2021 (CBCS)
New Syllabus: 2020 — 21

Subject: Business Mathematics
Paper: GE — 1 (1.4 CH)

Time: 3 Hours Full Marks: 60
The figures in the right hand margin indicate full marks
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Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any six from the following questions. 5X6=30
Ao AT W @A @ @i =@ At Ted wis)
(i) Ifx = 1 + logzbe, y = 1 + logpca and z = 1 + logeab, then prove that xyz = xy + yz + zx.

WM x =1+ logybe, y=1 + logpca @3 z =1 + log.ab 2, OIRE Al @ @ xyz =xy + yz

+ zx.
(b+ c)2 ¢ b’
(i1) Prove that ¢ (c+ a)2 a’ = 2(ab+bc+ ca)3.
b’ a’ (a+b)’
(b +c) c? b’
W IE T ¢ (c+ a)2 2’ = 2(ab+bc+ ca)3.
b a’ (a+b)
(iii) Solve the following equations by Matrix Inversion Method:
y+2x+z=5
y—-x=0
2x—z+y=1

Matrix Inversion */&@fS &Rl NEHA ANFAARTR AN I
y+2x+z=5
y—-x=0
2x—z+y=1

1



(iv) From the first principle of derivative, find the derivative of e,

SEAFEA 2 T (AT ¢ - STEHTAG el AN
d
(v) Ifz=x2+xy,x=etandy=t2, ﬁndd—i.

d
Rk Z=x2+xy,x=ettﬂ3°\y=t2,d—iﬁ‘-f§[ AN
(vi) Find the length and breadth of a rectangle of area 96 square meter whose perimeter is the

least. Find also the perimeter.

96 IR TRaTaARHE STorFa T AR Ty OF (v ¢ 2% Ny F@En ~fREwe [efa
FEMN

(vii) Evaluate:

f x% +5x42
x+2)(x+3)

= T

f X2 + 5x+2
x+2)(x+3)

(viii) Solve the following linear programming problem (L.P.P.) by graphical method:
Minimize Z =3x + 7y
Subject to 36 x + 6y>108
3x + 12y >36
20x + 10y > 100
x,y>0.
wRfbe @[ WS LP.P.Ba e
Minimize Z =3x + 7y
Subject to 36 x + 6y>108
3x + 12y >36
20x + 10y > 100
x,y>0.

2. Answer any three from the following questions. 5+5)X3=30
Ao FRelE W A @ @il 4 2 Ten ae



(i)(a)If§=y+z,%=z+x,§=x+ythensh0wthat

x y z a b
S=ytz,t=z+x,-=x+y X, OLA WM T — + —
Rl a y Z’b z X’c X+y =, « a+1 b+1+c+1

a b
— 24 o
a+1 b+1 c+1

Cc

-~ =1

(b) Prove that AN (BUC)=(ANB)U (AN C).
A FE @ ANBUC)=(ANB)U(ANC).

(i1) (a) Solve by Cramer’s Rule:

Cramer-&3 a9 @[ A=K Ik

(b) If A=

1 z2,z2_ 11
x y z 6
1 3 _1_ 23
x y z 6
1 2 1 7
and — = —=t-= —-
X y z 6
1 z2,z2_ 11
x y z 6
1 3 1_ 23
x y z 6
1 2. 1 7
qqe — =24 lo
X y z 6
5 4 -2
4 5 _2 |, show that A~ 11A + 10 I = O, where
-2 -2 2

I and O are Identity matrix and null matrix of order 3 respectively. Using the above

relation, find A

Im A=

@ 1 @I O U@ _Cﬁﬂ\g\o. G

et

5 4 -2
4 5 2 | or me @AZ-11A+101=0,
2 2 2
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(iii) (a) If x* + y* = 1 then find ﬁ



zriﬁxy+yx=1mwz—z-uﬂamﬁ® FAN

(b) Prove that f(x,y) = %y is a homogeneous function of degree — % and then verify Euler’s

Theorem.
oW TR @ fxy) = %? @ - 1 AR G TGS SwE @<k ORPH Euler-«
T AR I

(iv) (a) Evaluate:

f(e* + x%)dx

i [T

f (e* + x?) dx

(b) Find the area bounded by the parabolas y2 — 16x and x* = 16y.
Y= 16x @R x* = 16y W8 736 Rl ARG e rwazes Fe

(v) (a) A hotel prepares three types of food P, Q and R from three raw materials A, B and C. One
unit of food P requires 3 units of A, 4 units of B, one unit of food Q requires 2 units of B, 4 units
of C, and one unit of food R requires 1 unit of A, 2 units of B and one unit of C. The hotel has
120 units of A, 150 units of B and 110 units C available. Profits per unit food P, Q and R are Rs
20, Rs 10 and Rs 30 respectively.

Formulate the problem as a Linear Programming Problem to maximize the profit.
@36 @GS o7 TFEE FBNT A, B @2 C @F o4 431 qW P, Q U2 R (OfF F@I «F
GIFF P IWT &« 3 @FF A 8 4 3T B @@, dF @FF Q AT G 2 @FF B 8 4 &4
C AT @2 GF GFF R AU GF 1 §FF A, 2 GFF B € | &9 C A@EH| @BEE IR
120 & A, 150 @< B @32 110 ¢9F C ORI @< AfS P, Q &< R ACUF AR IAGFC
20 Bl 10 BIFl @32 30 BI=w1

T T R e TeTiieE (RS iR wen A iew

(b) What do you mean by infeasible solution? Represent the situation graphically with an

example.

Infeasible solution IACS Ft @RT? @b Tnigde T AERHEE b Tom T
FEN



